City Life   Xtra Credit: Quiz #2

1.   The early urban settlements in the U. S. were similar in that __________.


a.
all were inland

b. 
they were influenced by technology

c.
they were anti-British

d.
they were near water

2.  The urban-based party representing commercial over agrarian interests following the American Revolution was the ____________.

a.
Federalists

b.
Whigs

c.
Republicans

d.
Democrats

3.    New York City’s dominance in the U.S. by the 1860's was linked to __________.

a.
the Embargo Acts

b.
the development of the Erie Canal

c.
the discovery of gold

d.
successful land speculation

4.   Steam power in the 19th century industrial cities encouraged __________.


a.
dispersion

b.
concentration and centralization

c.
home manufacturing

d.
the development of urban sprawl and suburbs

5.    Which below is the proper sequence of economic development in the United States?

a) commercial , industrial, and corporate. 

b) industrial, commercial , and corporate.

c) industrial, corporate, and commercial 

d) corporate, commercial , industrial

6.  19th century technology fostered concentration. Technologies of the last hundred years have fostered 


a.
concentration rather than dispersion.

b.
dispersion rather than concentration.

c.
preference of Americans for central city residence.

d.
expansion of employment opportunities in the central city.

7.  The outward expansion of the city, at the beginning of the 20th century was due to the invention of the __________.


a.
electric streetcar

b.
railroad

c.
automobile

d.
cable car

e.
steam engine

8.   From the standpoint of the immigrant, the political bosses were not good for the Irish in the long run for since: __________.


a.
bosses only had public service jobs to give and these were few in number
b.
bosses provided Irish alcohol which led to dependency
c.
they didn’t provide celebrations on major U.S. holidays like the 4th of July
d.
most political bosses were Jews or Italians
9.   When did the United States pass the 50 percent mark in terms of urbanization?

             a.  1800

             b.  1880

             c.  1900

             d.  1920

10.   Sociologist, Robert K. Merton's quote, “The functional deficiencies of the official structure generate an alternative (unofficial) structure to fulfill existing needs somewhat more effectively”, is used by the text to explain the existence of __________.


a.
political bosses in large cities


b.
alternate means of urban transportation


c.
the illegal immigration of millions of Europeans to the U.S. between 1880 and 1920


d.
the development of the suburbs

